



No. Kad Pengenalan/No. ISID:.....  
I.C. No./ISID No.

No. Soalan.....  
Question No.

Muka surat.....  
Page

Jangan tulis apa-apa di ruangan ini  
Do not write anything in this column

Q1. (a)  $\{2n + \ln(n)\}$

$\implies \lim_{n \rightarrow \infty} \{2n + \ln(n)\} = \infty$  (B1)

1

(b)  $\left\{\left(1 - \frac{2}{n}\right)^n\right\}$

$\implies \lim_{n \rightarrow \infty} \left(1 - \frac{2}{n}\right)^n$

$\implies y = \left(1 - \frac{2}{n}\right)^n \rightarrow$  (M1)

$\ln y = n \ln \left(1 - \frac{2}{n}\right)$

$= \ln \left(1 - \frac{2}{n}\right)$  (A1)

taking limit

$n \rightarrow \infty \implies \frac{0}{0} = \frac{1}{1 - \frac{2}{n}} \cdot \left(\frac{-2}{n^2}\right)$

apply L'Hopital rule.

$\frac{-2}{n^2}$  (M1)

4

taking  $\lim_{n \rightarrow \infty} \frac{2}{n-1} = -1$

$\ln y = -2$

$y = e^{-2}$  (A1)

(c)  $\lim_{n \rightarrow \infty} \left\{ \frac{2n^3 - n^2 + 8n}{-5n^3 + 7} \right\}$

apply L'Hopital rule  $\implies \lim_{n \rightarrow \infty} \left\{ \frac{6n^2 - 2n + 8}{-15n^2} \right\}$  (M1)

$= \lim_{n \rightarrow \infty} \left\{ \frac{12n - 2}{-30n} \right\} = \lim_{n \rightarrow \infty} \left\{ \frac{12}{-30} \right\} = -\frac{2}{5}$  #

(A1)

3

No. Kad Pengenalan/No. ISID: .....  
 I.C. No./ISID No.

 No. Soalan.....  
 Question No.

 Muka surat.....  
 Page

 Jangan tulis apa-apa di ruangan ini  
 Do not write anything in this column

Q2. Using sandwich theorem,  $\left[ n^2 e^{\sin(1/n)} \right]$

$$\Rightarrow -1 \leq \sin(1/n) \leq 1$$

$$e^{-1} \leq e^{\sin(1/n)} \leq e^1$$

$$n^2 e^{-1} \leq n^2 e^{\sin(1/n)} \leq n^2 e^1$$

(M)  
(A)

$$\left\{ \begin{array}{l} \lim_{n \rightarrow \infty} n^2 e^{-1} = \lim_{n \rightarrow \infty} n^2 = \infty \\ \lim_{n \rightarrow \infty} n^2 e^1 = \infty \end{array} \right.$$

Using sandwich theorem  $\lim_{n \rightarrow \infty} (n^2 e^{\sin(1/n)}) = \infty$  (A)

Q3. Show that  $\frac{3}{1 \cdot 3} + \frac{3}{3 \cdot 5} + \frac{3}{5 \cdot 7} + \frac{3}{7 \cdot 9} + \dots = \frac{3}{2}$

$$1, 3, 5, 7 \rightarrow a=1, d=2 \Rightarrow a + (n-1)d = 1 + (n-1)2 = 1 + 2n - 2 = 2n - 1$$

$$3, 5, 7, 9 \rightarrow a=3, d=2 \Rightarrow 3 + (n-1)2 = 2n + 1$$

(A)

$$\sum_{n=1}^{\infty} \frac{3}{(2n-1)(2n+1)} = 3 \sum_{n=1}^{\infty} \left( \frac{1}{(2n-1)(2n+1)} \right) = \frac{3}{2} \sum_{n=1}^{\infty} \left( \frac{1}{2n-1} - \frac{1}{2n+1} \right)$$

$$\frac{1}{(2n-1)(2n+1)} = \frac{A}{2n-1} + \frac{B}{2n+1}$$

$$1 = A(2n+1) + B(2n-1)$$

$$n=0 \quad 1 = A - B$$

$$A = 1 + B$$

$$n=1 \quad 1 = 3A + B$$

$$\Rightarrow 1 = 3(1+B) + B \Rightarrow -2 = 4B \Rightarrow B = -\frac{1}{2}$$

$$A = 1 - \frac{1}{2} = \frac{1}{2}$$

No. Kad Pengenalan/No. ISID: .....  
 I.C. No./ISID No.

 No. Soalan.....  
 Question No.

 Muka surat.....  
 Page

 Jangan tulis apa-apa di ruangan ini  
 Do not write anything in this column

$$\rightarrow \Delta \frac{3}{2} \left[ \sum_{n=1}^{\infty} \left( \frac{1}{2n-1} - \frac{1}{2n+1} \right) \right]$$

$$\downarrow$$

$$\left( 1 - \frac{1}{3} \right) + \left( \frac{1}{3} - \frac{1}{5} \right) + \left( \frac{1}{5} - \frac{1}{7} \right) + \dots \quad (M1)$$

$$\left( \frac{1}{2k-4-1} - \frac{1}{2k-4+1} \right) + \left( \frac{1}{2k-2-1} - \frac{1}{2k-2+1} \right) + \left( \frac{1}{2k-1} - \frac{1}{2k+1} \right)$$

$$\lim_{k \rightarrow \infty} \frac{3}{2} \left( 1 - \frac{1}{2k+1} \right)$$

$$= \frac{3}{2} \quad (A1)$$

$$Q4. \sum_{n=0}^{\infty} \left( \frac{2}{3^n} + \frac{2}{5^n} \right)$$

$$= 2 \sum_{n=0}^{\infty} \left( \frac{1}{3^n} + \frac{1}{5^n} \right) \quad (M1)$$

$$= 2 \left[ \sum_{n=0}^{\infty} \left( \frac{1}{3} \right)^n + \sum_{n=0}^{\infty} \left( \frac{1}{5} \right)^n \right] = 2 \left( \frac{3}{2} + \frac{5}{4} \right)$$

geometric  
 $a=1, r=1/3$

$a=1, r=1/5$

$= 11/2$  (A)

Since  $r=1/3$  &  $r=1/5$  are less than 1, thus the geometric series is converges. (B1)

$$\frac{1}{1-1/3} = \frac{3}{2} \quad (M1)$$

$$\frac{1}{1-1/5} = \frac{5}{4} \quad (M1)$$



No. Kad Pengenalan/No. ISID: .....  
I.C. No./ISID No.

Muka surat.....  
Page

No. Soalan.....  
Question No.

Jangan tulis apa-apa di ruangan ini  
Do not write anything in this column

Q5.  $\sum_{n=1}^{\infty} \frac{\tan^{-1}(n)}{1+n^2}$

let  $f(n) = \frac{\tan^{-1} n}{1+n^2}$

By using integral test.

$$\int_1^{\infty} \frac{\tan^{-1}(x)}{1+x^2} dx$$

let  $u = \tan^{-1} x$   
 $du = \frac{1}{1+x^2} dx$

$$\lim_{h \rightarrow \infty} \int_1^h u du \quad \text{--- (A)}$$

$$\lim_{h \rightarrow \infty} \left. \frac{u^2}{2} \right|_1^h = \lim_{h \rightarrow \infty} \frac{(\tan^{-1} h)^2}{2} \quad \text{--- (M) (A)}$$

$$= \lim_{h \rightarrow \infty} \left[ \frac{(\pi/2)^2}{2} \right]$$

$$= \frac{\pi^2}{4} \cdot \frac{1}{2} = \frac{\pi^2}{8} \therefore \text{convergent} \quad \text{--- (A)}$$

Q6.  $|a_n| = \frac{2^n}{n!} \quad \text{--- (M)}$

$$|a_{n+1}| = \frac{2^{n+1}}{(n+1)!}$$

$$\frac{|a_{n+1}|}{|a_n|} = \frac{2^{n+1}}{(n+1)!} \cdot \frac{n!}{2^n} = \frac{2}{n+1} \quad \text{--- (M) (A)}$$

$$\lim_{n \rightarrow \infty} \frac{2}{n+1} = 0 \quad \text{--- (A)}$$

By using ratio test we get

$|a_n| = a_n$  is converges

Therefore  $\sum_{n=1}^{\infty} (-1)^{n+1} \cdot \frac{2^n}{n!}$  is abs. convergent

↓  
(B)

#